1. During 24 hours there is a time when 4. Match tpe following .
plants neither release O, nor CO,. This is a. Apiculture I
: b. Silviculty 4PeVines |
the time of . Viticy ® & Ofeybees |
(A) Noon hours  (B) NO'}‘? of these ' = ~ulture 3. Forest treeg :
(C) Daylight (D) Twilight . PR
24 2 % B T O T A R g o L IR e
@ 71 0, B & 1 & CO, | 77 T b. R 2. T
c. fafemem e it
BT & - 3. F-auy
) B) AP T Codes / Rb:
' . a
€) Reaywm (D) ied v A) 2 ;
o B)1 2 3 ?{
2.  When the moon is near the horizon, it € 3 1
appears bigger because of D) 2 3 ;
(A) Scattering of light . |
- (B) Total internal reflection E%E S. g;lgar can be tested ip 5 Diabetes patien
(C) Diffraction (A) Denige ¢
(D) Atmospheric refraction © Barff‘r d,:i_te: : (B) Benedicys feqy
: . :
i g fefos & et @ 2, o T g Ay (D);'{I;:;::t .
* SRV 7 T B g | Awwy o
(A) TP Hyehely @ e g e e
(B) YUt ATaftes W (C) "rwrE 3w (D) W e
(C) fomeln . : |
: ' . Fruit ripening ig o
(P) TgHEet st @) Cyﬁol_ll’(?fi: St““g;;“ﬁzn .
(C) - Gibberellin (D) Ethylene
3.  Whatis the:' normal amount (approx.) of BATE_ Faw ST Y et
haemoglobin in a healthy adult male 9 R
A) 6-8 ‘
(A) gm/100 ml of blood I (A) TEA-Frh B) R
(B) 13-18 gm/100 ml of blood ' (C) Rt ' (D) TRl
(©) 19-22 gm/100 ml of blood |
(D) 22 -28 gm/1 00 ml of blood |7. The word “Vaccination’ has been derived ]
@ngm ﬁéﬁrtaﬁﬁqa?mm:q ’ from a Latin word which relates to 5
HE (@) Tt gt 2 o s (A) Dog (B; g(_)w :
_ (C) Horse (D) Hippopotamus
(A) 6-831./100 fireht, e | AR YR T AR v & g L,
(B) 13- 187./100 firehy, 15 | v vy 2
(€) 19~22m./100ﬁ?ﬁ.re5 g (A) TR (B) Ta ¥ | ]
| (D) 22 -281./100 firey, g, (© WR3 - (D) FeESE |
a3 e = 5 104A ;
Download Answer Key Click i
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M:ch the following 5

arappan Sjte Place
2. Kalibangap 1 i
b. Mohen; i
. % Jodaro 9. Rajasthan
* tlarappa 3. Gujarat
d. Surkotada 4. Sindh
ﬁqﬁ“‘l‘iﬁ?{ﬁﬁ"ﬁa‘%ﬁﬁ:

TS LI
a. HreflEy . oo
b. Wewiesr 5. TSI
C. T 3. TR
d. g 4. Ry
Select the correct answer usi
g er using the codes
ﬁéﬁquﬁ%mmﬁﬁmﬁﬁ=
Codes / e :

a b ¢ d
Ly 2 4 1 3
AB)"4 1F 309
©3 2 1 4
©)27:'3 4 v

Which of the following is the cotrect
chronological order of the given
dynasties ?

(A) Kushans, Guptas, Mauryas, Nandas
(B) Nandas, Mauryas, Kushans, Guptas
(C) Mauryas, Nandas, Kushans, Guptas
(D) Guptas, Kushans, Nandas, Mauryas

fr ® @ @ Ry T aEs @ ad
HTCATIHY & 2

(A) T, TH, F, T

B) 3, o4, W,gq

(C) W, g, I, TH

(D) T8, FI, 7,

104A
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10.

11.

3 .

et L ey

he following statements :

ider t
fof:izrign of Jahangi’ Kandahar could
n

d due to
not be recaptur®
1. Inefficiency of Mughal army

2. Refusal of Khurram to proceed to

that place.

3. Difficulties
expedition. |

4. Severe coldin Afghanistan

Which of these statements are correct ?

in organizing an

(A) 1,2and4 ~ (B) 1,2 and 3
(C) 2,3 and 4 (D) 1,2.,3and4
frferRad aedl o R L :

SehfR 3 ST H, HUT T 56 HRO
T Srferer T fopam S HehT

1. Tl §A bt AT

2. @"WNWU{@&W

3. st s S0 3 St
4, FEMAEH A TS 38

FHATH Y T T 2
(A) 1,2WE 4 (B) 1,23
(C) 2,3W 4

(D) 1,2,3 @4

The Iqta system was provided
institutional status by

(A) Tltutmish

(B) Qutubuddin Aibak

(C) Balban

(D) Alauddin Khilji

S 1 e g s g
™I ?

(A) Tegatm

(B) ILTH W

(C) w&t&q
(D) ST Raersht
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12.

13.

14.

The Indian National Army was organized
to fight against

(A) Germany and Japan

(B) Russia

(C) South Africa

(D) The British in India

T wamfi drr »
R wre % fore R |

(A) S @I (B) w4

(C) TR anfier (D) wra § st

What is the correct sequence of the
following events ?

1. Partition of Bengal

2. Jallianwala Bagh Massacre
3. Quit India Movement

4. Simon Commission Report

Feafafga mensti s e Fnan 2 2
A B AT 19s-

I BIS! eI

. WTEHA HHtE

(A) 1,2,4,3 (B) 4,3,1,2
(€) 1,2,3,4 D) 1,4,2,3

- - .

Bangladesh was liberated on
(A) 14" December, 1971
(B) 15" December, 1971
(C) 16™ December, 1971
(D) 17 December, 1971

TARY _ HI WA AT |
(A) 14 feamw, 1971
(B) 15 f@wg, 1971
(C) 16 @, 1971
D) 17 femwR, 1971

L N

e T ———— p— ——— . "— — “—

st
gy
%

15. Who out of the following was elected by

16.

Y
o

the Constituent Assembly as
permanent President ?

(A) Dr.B.R. Ambedkar

(B) Mahatma Gandhi

(C) Dr. Rajendra Prasad

(D) Vallabhbhai Patel _
foe % @ R wfrm @ gRT 3o vt
HeY & T o A T Y12

(A) . &3, I

(B) werean et

(C) . TN, TG

(D) TewITE IS

its

The elective strength of the Lok Sabha
was increased by the

(A) 44" Amendment
(B) 31** Amendment
(C) 42" Amendment
(D) 40 Amendment

¥ g A w1 ) ratem wwn
4 gfg Y g ot |
(A) 443 @Mes  (B) 319 @aeA

(C) 429 &MY (D) 403 &

The order in which the following
personalities were elected as Presidents
of India is

1. S. Radhakrishnan

2. Rajendra Prasad

3. N. Sanjiva Reddy

4. Zakir Hussain

frferfee =fwal % wra % wgefy
IR B AN FAR

. TH.UUGWH 2. TN 56K

3. W.ENEIgE 4, IR EET
(A) 2,1,3,4 (B) 2,3,4,1

C) 2,4,1,3 (D) 2,1,4,3
104A
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18.

19.

Given below are two state
. ments labelled
as Assertion (A) and Reason (R). In the

context of_ the two statements, which of
the following is correct ? |

Assertion (A)
their own representatives.

Reason (R) : India has democracy,
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

A e e 3 et o (A) st

(R) < &0 & fufie v 2 | Qi st

S, i a oot

FYF (A) : WG ¥, FAA I @A
wfeffr gt 2 |

T (R) : WRAH ya 2 |

(A) (A) W R) IR R IR (R), (A) R
TE TR | j

(B) (A) W (R) GHI ¥ §, W (R), (A)
Fi g AT AE 2 |

C) (A)FaR, g R) IAL |
(D) (A) 3T &, WY (R) TAR |

Which Union Ministry of India
developed the Good Governance Index
aiming to map the good governance of
the states based on various indicators ?
(A) Ministry of Personnel

(B) Ministry of Home Affairs

(C) Ministry of Finance

(D) Ministry of Parliamentary Affairs

In India, people elect

|22.
|

-
|
|
|
|

WA % fra darer g fafv dasdsl W
TR T4 % e Y AT9H o 39 &
G YT faehid foha T 2 |
(A) FHIH AR -
(B) T W A |
(C) fomame™ \ |
(D) HEeH w1 el -
104A
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21.

20. Who was the first Vice-Chairman of

NITI Aayog ?
(A) Piyush Goyal
(B) Nirmala Sithargman
(C) Arvind Pangaria
D) Raghuram Rajan
Eﬁfz’r TN 3 TUH SUTEE B & 2
() T e (B) Fken diamm

(C) S I (D) T T

Which Amendment Act of Indian
Constitution extended the reservation for
ten years to SCs and STs in Lok Sabha
and State Assemblies besides doing away
with reservation for Anglo-Indian

. Communities ?

(A) 104™ Amendment Act, 2020

(B) 105" Amendment Act, 2021

(C) 103 Amendment Act, 2019

(D) 102" Amendment Act, 2018

wRet wfeeT & fopa g s g
A 3 Tsw K faum wwe
Fgfa Wfd T g S %
JTTEIV h) WAt 3T TS S STE0 Hl
3T TER 5 EH aN1 % R TR W ?
(A) 104t gunem rffam, 2020

(B) 1055t werr arfiform, 2021

(C) -103aT w¥te srferfram, 2019

(D) 10241 @iy Jfyfam, 2018

Which of the following Indian states has
the maximum number of common
borders with other Indian states ?

(A) Rajasthan

(B) Andhra Pradesh

(C) Uttar Pradesh

(D) Madhya Pradesh

T vt oot o @ ) ey arfra
I MRS TS | ofimqy AT T8 ?
(A) T (B) 3Ty e
€) TWIE (D) gy

(n)

Download Answer Key Click
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23.

24,

25.

The widest gap across the Western
(A) Thal Ghat  (B) Palghe!
(C) Khandwa Gap (D) Bhor Ghat
ufeenft wre 3 Jm-a Fo

(A) ure =re

(C) wWearfagt
Match the following

Companies Products
a. BHEL Iron and Steel

1
b. HAL 2. Chemicals
c. SAIL 3.  Electricals
d. HOCL 4. Aeronautics

frefias 1 gARm # -
Hfat

a. ﬁ@ﬁm

b. TH.U.TH.

C. Q'aq:m'éqa

d. we.3M.H.T.

%a

I
e 3fv gEa@
WA
s
e

N N

WK R~
G S -

D)
Bhakra Nangal, Hirakud and Kosi
projects are situated on the rivers I

respectively
(A) Godavari, Mahanadi, Kosi

(B) Sutlej, Mahanadi, Kosi

(C) Sutlej, Mahanadi, Purna

(D) Beas, Mahanadi, Godavari

syrge e, e 3R Hi i
ELE e w fera & )

(A) TETEd, FErTE, it

(B) TAE, TEF, Hie

(C) WA, TEwd, i | |

(D) ST, TE, Tera

Ghatsis | 26. Bro

27.

28.

'9, They 2@

flame retardants are useq j,
ehold products like mattregge,
ery. Why I there some
ut their use ?

1. They are  highly resistant ¢,
' n in the environment,

degradatlo

re able to accumulate i,
humans and animals.

Select the correct answer using the code

given bell‘ow

(A) 1only

(C) Both 1 an

minate
yh ouse
d upholst

concem abou

(B) 2 only
nd2 (D) Neither 1 nor 2

Tice I T T ST A

e EA IS
%smm:ﬁﬁ-m‘mﬁmm |

Tl 3R §SEe

g7
| 3 gt # FEE F 3= 0
gl

2. ﬁmrﬁaﬂimaﬁﬁwﬁﬂ?ﬁﬁ

qea g |

e e A A EE ST
(A) o | (B) Faw 2
© 123 (D) AWITEA2

‘Social forestry’ term was first used in
India in

T 3 AT SR g T T Y

H g U |
(A) 1966 (B) 1976
(C) 1985 (D) None of these /
T B T

Which day is celebrated as the World
Ozone Day ?

(A) 16™ September (B) 20" October
(C) 21* November (D) 12 December

forea 3t feeer R o s s 2 2

(A) lﬁﬁﬁﬁ'{ (B) ZOW

(C) 21 7w (D) 12 feamR
104A
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| l -

29. On 31 August, 2021, nine new Supreme

30.

31.

Court judges took oath, N
' . . . Now the number
of woman judges in the Supreme Court is

31 3T, 2021 ) GaT =TT % A W

st ¥ wow o | ora wetw A d

Ay <l 6 TS B

(A) 4 B) 5

(€) 6 (D) None of these /
T A T

On 1* .S eptember, 2021, who inaugurated
a parliamentary outreach programme to
empower Panchayati Raj Institutions
(PRIs) in the Union Territory of ] & K ?
(A) Shri Narendra Modi
(B) Shri Amit Shah
(C) Shri Om Birla ﬁ
(D) Shri Rajnath Singh
| Ry, 2021 B SE @ FEN
d & T T Ee &l
e O ¥ e dad Tge FREEH
Seued frea foRa 2 -
@A) ARFETAE B sft i A8
() # s fagen (D) sft o e
Indian and Algerian navies
rst ever naval exercise

The
conducted their fi

off the coast of Alge
2021. Which ship represente
(A) INS Dronacharya
(B) INS Kalki :

(C) INS Trishul

d India ?

I'ia on AUgUSt 299 -

32.

33.

34.

On 1* geptember 2021, .SBI opened 2

floating ATM on
(A) Naini Lake, N

(B) Chilka La

ainital

—

Ujjwala 2.0 (Pradhan Mantri Ujjwala
Yojana) Jaunched on 1ot August, 2021 at

(A) Panipat, Haryana
(B) Mahoba, U.P.
(C) Bhopal, M.P.

(D) Gandhinagar, Gujarat
Jesa@ 2.0 o ool AT B

#1037, 2021 1 e fear T |

On ?‘“ July, 2021, which of the following

ministers took oath as new Cabinet

Minister of Heath and Family Welfare ?

(A) Mansukh Mandaviya

(B) Kiren Rijiju

(C) Rajkumar Singh

(D) Dr. Harshvardhan _

7gar§,.2021 ) fr= & @ few w4

W@WW%WW@%

w9 # oy ot ? F

(A) wgE st (B) foRt

©) gwRRiE (D) S g
. L a |




35.

36.

37,

Which of the

OVernment Scheme and its launching
ate is incorrect 9

(A) Atmanirbhar Bharat Abhiyan — 13%
ay, 2020

) Mission Karmayogi - 20%
November, 2020

(C) Pradhan Mantri SVANidhi Scheme
= 1* June, 2020 :

(D) Samarth Scheme ~ 14“‘:May, 2020
STHR At Arsraft T 37 vad 6

arirat % R

R

(©) werrht iy e - 1 5, 2000
(D) w5 Jrer - 14 TE, 2020

Which State has appointed Sonu Sood as
the Covid Vaccination Ambassador ?

(A) Haryana (B) Maharashtra
. (C) Punjab (D) Gujarat
LR I 92 9 Fifde demm
TaEst % w9 § g R 2 9
(A) gf@mn (B) WERTY
(C) usT= (D) T 39,

Who has been honoured with the
prestigious 51 Dada Saheb Phalke I
Award at 67" National Film Awards
Ceremony ? _

(A) Akshay Kumar

(B) Amitabh Bachchan .

(C) Rajini Kanth 40

(D) Vinod Khanna
674 TEA Them qwer wumiz o fed
wfaf¥d 519 TQ1 e Bk QR A

gera fRn T g o
(A) FFAFAR  (B) AT E= |

(C) Htpra (D) forfie =

8

following pair of Central |38,

B

Consider the following Statemey,

regarding Krishna Nagar of Rajasthan | 3

1. He belongs to district Jaipyr,

2. He won gold medal iy T
Paralympics.

3. He won medal in Para-badm
Men’s Singles SH3 event.

4. He is coached by Gauray Khanna,

Which of the above are correct ?

(A) 2,3and 4 (B)-1,2and4

(C) 1,2and 3 (D) 1,3and4 :

TSEYTH % PO AR & oY & e

%A R femm hif ;

1. TEAR e defh g

Okyq

int0n

2. 3N de Wil § wol gy

S
3. I UU-sefien qey W'sm
T 3 uees St | |
4. 3% TIRE @ g wikvager fire |
I AAB AR E 7
(A) 2,334 (B) 1,234
©) 1,233 (D) 1,334

= 3 & o e o Wi -Rredg w2 7
(A) ?ﬁﬁ‘?f{swﬁg\q

(B) W=W:+Hﬁm

(C) wevad = mgr + Yy

(D) Heargam = e + argEm:

. = 53 R e % ot et  sw

T T () 1 i g R 7
(A) saFohY, ey
(B) wftm, e
(C) TUHTEA, UV
(D) suReet, g

- 104A . -

N




41.

42.

43.

45.

104A

e e ST AR AR R LA AR

el T8 R THTE T JETEI ] 7
A) s (B) fel
(C) FHUTE (D) &%

faer e 1 e - w1 3%l -9 Wt TR

fPownload Answer
wgm -

(A) eA-TE - WR-TE

@B) fg-dw - fEe-wE

() TE-anwr — Q- vrfed

(D) sf-amd — F-FrR

1 i

(A) Teft, T, TEA

B) farsay, wefiuftr, FRTR
() fra, <z, IAmdfd
(D) 7, Tk, @ferer

fra e i RmIw  ?
(A) fre-fe (B) TA-T
(C) wFa-fuga (D) HqE-TA

Prerferfiaa e} w frem o
1. HEHd

2. qrofimgm

3. @M

4, G |
fra R iofi v g € ¢

(A) 1,23R3  (B) 233

(C) 334 (D) 134

fopa R aft wreg e e T

——— —— ——————————— it} S g, "

43, P fmea § T TReTT I
| g R TR IR R 7
(A) Assent - Fmm
(B) Defamation — HIF&IA
| (C) Informal — 3t
" (D) Conclusion — SRS

2 & T T e Wi 2
(A) e aftsm AT
© (B) ¥ Y I gfal & e
(C) T B
(D) eI o &
. fru fd®eT ¥ ‘Adjournment’ ¥sg W
auey ) wfonfyes wsg wi @ 7
(A) Tt (B) wifgan
(C) AT (D) e

49.
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Read the
questiong
Private
asked that
€ oiled
-Wheneyer
Where she

following passage and answer the
given below (51-55) :
Workplace always helps. Jane Austen
a certain squeaky hinge should never
80 that she always had a warning
Somcone was approaching the room
wrote. William Faulkner, lacking a

lock on his study door, detached the door knob
and brought it into the room with him. Mark
wain’s family knew better than to breach his
Study door——-they would blow a horn to draw
h:m_ Out. Graham Greene went even further,
renting a secret office; only his wife knew the
address and the telephone number. Afier all,
Cveryone of us needs a workplace where we
¢an work on our creation uninterruptedly.
Equally we need our private space too!
f‘\. daily walk has always been a source of
Inspiration. For many artists, a regular stroll was
essentially a creative inspiration. Charles
Dickens famously took three hour walks every
afternoon, and what he observed on them fed
directly into his writing. Tchaikovsky could
make do with a two-hour jaunt but wouldn’t
return a moment early; convinced that doing so
would make him ill. Ludwig van Beethoven took
lengthy strolls after lunch, carrying a pencil and
paper with him in case inspiration struck.
Nineteenth century composer Erik Satie did the
same on his long hikes from Paris to the working-
class suburb where he lived, stopping under street
lamps to jot down ideas that came on his journey;
it’s rumored that when those lamps were turned
off during the war years, his music declined too.
Many great people had limited social life too.
One of Simone de Beauvoir’s close friends puts
it this way. “There were no receptions, parties. It
was an uncluttered kind of life, a simplicity
deliberately constructed so that she could do her
work’. To Pablo the idea of Sunday was an ‘at
home day’.
51. The passage is about:

(A) how to practise walking

(B) walking every day

(C) the life of a geniug

(D) what we can learn from the routines
of geniuses -

— ———— ———

52.

53,

54.

5S.

S56.

57.

59,

60.

10

-

The writers icrll the pfa}st :d :

A) followed a perfect daily rout
EB; enjoyed the difficultieg of i fgle
(C) can’t teach us a lot
(D) wrote a lot in books

In their daily routines ;

(A) they had unique life styleg

(B) they read books and enjoyed theig
(C) they did not get any privacy

(D) they did not mind visitors

Some artists resorted to walking ag it was.
(A) an exercise .7 :
(B) acreative ms_pnratzog

(C) essential for improving the;; health

- (D) helpful in interaction with otherg

To Pablo, the idea of Sunday was ap .
(A) at home day

(B) off day

(C) at amall day

(D) at friend’s place day

Find out which part of the sentence has
an error,

My lawn, which is overgrown, needs
weeding,

(A) My lawn :

(B) which is overgrown

(C) needs weeding

(D) No error

Find out which part of the sentence has
anerror.

No sooner did he see his teacher when he
stopped copying,

(A) No sooner did he see his teacher
(B) when he - |

(C) stopped copying .

(D) No error
Give Synonym of
Perspicacious

(A) Bad

(C) Hazy

Give Antonym of
Dilettante

(A) Professional (B) Tidy

(C) Stupid (D) Rapid

Give meaning of the following idiom :
A man of straw

(A) A very active person

(B) A worthy fellow

(C) A reasonable person

(D) A man of no substance . : ;

(B) Clear
(D) Shrewd

104A;
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61. Inthe foll Below is
OWing Jett : 65 to 67) : be OVY 1
oer ders are missing W"'E'is r;es Some of the | Directions (Questll‘;:;e d by several possible
€r as one fthe altematrizgl\fen in tl:lat given a passage fo o e from the facts
HER oy 3 ©s below it ; inferences which can b 1 scitine
3 W ﬁ??l:ﬁm T I« 5% stated in the passage: Y(Tu the context of the
T f TR, Gk TH U IH # | each inference Separatgl')t{su:iegree st o
: : n i
ab/ passage, decide UPO ordingl
( R boday, 2d ca cbeed falsity and choose yout ansﬁfesaccprovic%ez
e (B) aaabbb from amongst the alternat
(©) ababac (D) aabb thereafter. :
62.  From the o w Dryland farming is the onitys ey {fprmot
b6 elet tEﬁven pairs of words you have |only combat recurring drought but also mej-et
in the sams \g:u Wwhich is closely related the increasing food requirements of India.
_ Ppair, ¥ 2 the words of the first | About 45% of India’s total crop production
Pen : Paper - . now comes from drylands. By the end of thl'S
(A) Hammer .m“‘ century, this will have to increase to 69% if
(B) Teacher '.P , 0, India is to provide adequate food for projected
(C) Dog: Bs k““"lpa‘ ; population of one billion by the turn of the
» 2Rk century
D . . ‘ ;
(ﬁa):;mfezlgeat' | T (3w 65 @ 67) : T2 ©= wiedE otk IEH
il "ﬁgﬁwﬁ:ﬁmmgxﬂw e 3 Ty s R e § <) afede §
TR ?W%Mﬁmﬁ Torre el @ Fremret o wre § | wiede & def
: " (e P < qus w9 & e S ITaH! I
PRI ‘ TE U T B % Hife 1 Pk o 2 afk
(A) ST 7% (B) s : e 36 a1 e T Ryt 8 F st seR 7 w4
(C) % Wis (D) =% : TTE FAR |
63. Choose the group of letters which is 7 e IS IR @ foe vy wra
diffe.rent from others. ' J $I T L wtm <) of &1 ot THAT 3T
HE % I9 TG 1 A B S 37 By Bl & | s 35 e e o i 450
g1 .. aﬁmﬁ-m%@ﬁmimﬁmﬁm
(A) BDF (B) JLN % 3 % T T R s )
(C) RTV (D) ACF T e & "E: 'am'_ ﬁ”@iq‘
64. Which letter will be 15™ to the left of 7% 60% T T B |
from the left end in English alphabetical
series ? § % 65. Dryland farming is important for India
SISl otHTeT A 4 q BRA 74 A | (A) Data inadequate (B) Definitely true
% ST 37T 1597 &R 9180 ? | %gbé%yg%% Probably false
) O o E | ) s A i
0) Q O R I : (B) ISR
- O C) TF:TR (D) Hva: e
104A N 11 | 0
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66.

67.

68.

69.

70.

India is self-sufficient in food production.

(A) Definitely true (B) Probably true
C) Data inadequate (D) Probably false

I Wy Ieare & aeAtnft 2 |

(&) A sadwd (B) wva: wd

© @@ (D) wvea: Terd

In India, the rate of growth of population
15 15 percent per year. _
(A) Data inadequate (B) Probably true
(C) Definitely true (D) Probably false
VR o, e g Qi ad 15 oA R |
(A) 3T9gH 21 (B) Tveq: 98

(©) i s dwd (D) gvaa: T

A man said, “This girl is the wife of the
grandson of my mother”. How is the man
related to the girl ?

(A) Husband (B) Grandfather
(C) Father-in-law (D) Father

T I 3 e, a8 el 3 o oy |

Tl R | AT Tl A wea R 7
(A) dfa (B) A1/
(C) a7t
If ‘QUIZ’ is coded as ‘RVJA’, how will
you code ‘CLASS’ ?

af¢ ‘QUIZ’ #i ‘RVIA’ fied fran mn 2,

3119 ‘CLASS’ %1 e T SR 2
(A) NCDFQ (B) DMBTT
(C) BMBUU (D) TTBND

A walks 10 m North, then he turns right
and walks 10 m. And then turning left
each time, he walks 5 m, 15 mand 15 m
respectively. Now, how far is he from his
starting point ?

(A) 5m (B) 15m

(C) 25m (D) Zero

A S Fem & 10 et wreran R, e g o
IR Fght 10 e era § 3t amg 3 v
TR AT YSH T8 HAW: 5 e, 15 drerqen
15 HIZUSTTT1 ] | 37 7 39 3 farmg @
e i w22

(A) 5HIX (B) 15z

(C) 259X (D) I

71.

|
|
|
|
|
|
|
|
|
|
|

12

72.

3.

T

Five friends A, B, C, D Fm.d E are Sitin
on a table. E and B are sitting togethe, E
and C are sitting together. A is oy the
extreme left. B is second from eXtreme
right. Who is sitting between A and g 3

(A) OnlyD (B) CandD
(C) Only E (D) Cand E
gfe i A, B, C, D 1 E T 0l w3y
§|ETBEM 43T | ETN CHmy a3
1A BRWR, BTABRAgm g
A T B % AEI S 9871 8 ? |
(A) %ad D (B) CTaD "
(C) Haa E (D) CAME

3

Suresh is older than Jiten but not as olq
as Samir. Piyush is older than Nitin byt
not as old as Jiten. Who among them is
the oldest ?

(A) Piyush (B) Suresh
(C) Jiten (D) Samir
T 39 o ofie | w91 8 W ok Ry

T | Frgy fifem ¥ w1 @ W AW R
T | T e 19§ Ted ST R R 2

(A) 91y (B) g
(C) fa (D) &k

Which one of the given responses would

be a meaningful order of the following
‘words ?

1. Seed
3. Plant

2. Fruit

4. Food

(A) 1,4,2,3 (B) 3,1,2,4

(©) 1,3,2,4 (D) 2,1,4,3
ﬁw%lﬁamﬁwaﬁ@mﬁﬁnﬁsﬂﬁ
W R B | o B 2
1. W

3. W

(A) 1,4,2,3
© 1,3,2,4

2. B
4. @™
(B) 3,1,2,4

D) 2,1,4,3
104A



" Which letter wjj
mark ?

Wﬁammaﬁqma
s

75.

.

1047

I replace the Question

§T = 9

V&

|
|
I
I
|
l

Q

A Y B) L

(O D) O
i}lgl)(l)(/?;h:e right letter for the Question
T, 3 R () et
cGKOS;AEiM'(’);EIMQ?
(A) S B) V

©C) T D) U

From the given pairs of words you have
to select the pair which is related in the
same way as the words of the first pair..
Music : Guitar : ; g

(A) Water : Tank
(B) Pen : Pencil
(C) Nose : Face
(D) Word : Word Processor

feg e o) % gm @ s sEgmE = |81

AT & N W I 3 T1eq) oh e & wea
L

I

ﬁfﬁﬁzﬁm’(:: l‘
(A) TrY ; T |
(B) wem : ¥R |
(C) 7 : ¥ET |
(D) e : T MW |
I

I

I

|

Choose the odd one out from the given
alternatives.

o T foyepenit i @ R Y |
(A) 400-16
(C) 30012

(B) 200-8
(D) 50018

78.

|
2 l 79.
|

80.

10 the right OF

ill be
. ch letter W12 lis
;Yc?r;f hleft end 17 o
series ?

el oAt

i ncle of D
D’s father is B’s son- Cis ge ;liow ot
and A is the brother of B.
related to C ?
(A) Son
(B) Uncle
(C) Brother
(D) None of these

D fiar B #1312 | C, D1 3t 3 I
ABFER A CAFAEERER?

(A) ¥ ' (B) 3

(C) ¥ (D) T & ¢ T

If ‘SOUPS’ is coded as ‘SPUOS’, how
will you code ‘TENDER’ ?

3 ‘SOUPS’ %1 ‘SPUOS’ fext e e
2, 0 319 “TENDER %1 2 741 70 9
(A) XIRHIV (B) REDNET

(C) WHQGHU (D) SDMCDQ

Ashok went 8 km South and turned West
and walked 3 km, again he turned North
and walked 5 km. He took a fina] turn to
East and walked 3 km. In Which direction
was Ashok from the starting point ?

(A) South (B) South-East
(C) North-East (D) East
msﬁ.m.amwﬁmwaﬂwﬁaq

Eﬁrwgswaﬂtsﬁs.vﬂ.w,ﬁqaag
I A T 51 3R 5 76 . oy | 3
iﬁmwf@ﬂ%%ﬂwaﬂtsﬁm.m |
3T 3T g & S B for 3 o
(A) gt (B) 2fefor—e

(C) FH-g (D) w&




82.

83.

84,

Six plays P, Q,R, S, T and U are to be
staged from Monday ar}d ending op
Saturday, not necessarily in same order,
Play R is staged on Tuesday, Plays P,
and Q are staged one after the other i,
same order. Play S is not staged op
Monday or Wednesday. Which play ig
staged after R ? _

% TEHP, Q.R. 5, TG U, S0 78
o 3eft s B, WiwaR @ 37§ AR
el T 8 | Feh R FIEER Hi gay,
e P, U 41 Q T  91¢ T T sy
weifa fFd T | TR S WHER arery
TR ! Feiq T 6 T | R % wre

e |

Directions (Questions 85 to 87)
following information to answer
questions :

A word arrangement machine when given ,
input line of words, rearranges them followinn
a pqrticular rule in each step. The following is
the input and the steps of rearrangement,

Input by gbing for crept te light sif
Step-I c'rept but going for te light sir
Step-IT . crept gzoing light but for te sir
Step-IIT . crept going light but for sir te
Step-1I1 is the Iast step for this input.

As per the rules followed in the above steps,

; Smdy the
the giVen

T T A Ria g1 7 find out in the given questions the appropriate
(A) P B) S step for the given input.
© Q TSI ﬁhmssﬁsn:&aﬁmmmag@
If white means black, black means red, T T 3199 8 - :
red means yellow, yellow means orange, )
orange means green, green means violet T e fomama e =) WW 1 faw Yar &
and violet means blue, what is the coloyr ST 8 7w TE IAF T § T i form a7
of human blood ? WWB%B?W@HW%% | e e
(A) Red (B) Yellow 3R e % T |
(C) Blue (D) Green ¥ ‘3 |
R aSe H1 anf%m, T F ;ﬂgf%m’ e : but going for crept te light sir
oA o 3 § e, fem w1 oo & R, JwO crept but going for te light sir
et o % &, -@ w1 3 %w 3R JI-11 : crept going light but for te sir
<reft = 7ok & e, AR @ TR 9 SOUIL  : crent oing lioht b e ;
(A) A (B) e - ! crep gomg 1ght but (0r s‘lr ’\q
(C) Fem D) & SO e 1 st o | |
IR =it 3 Srgaia e & I1FER = vl
‘Which one of the given responses would |3 & R o e o R -
be a meaningful order of the following l
words ? , _ :
1. House 2. Road 85. If the input is ‘true se veto be nuke my
3. Room 4. Hamlet | like’, which of the following will be Step
5. District ' v .
me@mﬁ'&ﬁﬁﬁ l afe e 2 “true se veto be nuke my like’,
B & B | foferfea 3§ @ # @ swr-1v dm
L W 2. 9SH ﬁ (A) like nuke true veto be se my
3. wHu 4, W (B) be my like se true veto nuke
5. Toem I (C) be my se like true veto nuke
(A)3,1,4,2,5  (B)3,1,2,54 | (D) veto true nuke like so be my
©) 3,1,2,45 (D) 3,2, 1,4,5

104A



86.

87.

Input

: more fj
idea © light cats cough sough acts

Which of the followin
g steps
the last step for this input ? ps would be

: more fight cats cough sough acts
idea

frefaRaa T 3 d oy
Aferw = g 2
(A) III
(YY

3 Few & fem

(B) IV
(D) VI

If the second step of an input is ‘clever
remand window sales batch tiger never’,

which of the following will be its sixth
step 7

Rk TR faw = QU = 2 “clever

remand window sales batch tiger never’,

 Frfefea & e ssr T ER T Am 2

88.

89.

(A) window remand clever sales batch
tiger never

(B) clever remand window batch sales
tiger never

(C) batch never sales tiger clever
remand window

(D) It cannot have sixth step. / |
THH BT =T TEI & whall |

In the following question, find the
missing number : ;
fyferfea we 8 e ST 71 B

54 28

(A) 66
(©) 72

(272-32)(124 +176) _
17x15~15 -

(A) 300

(C) 124

~(B) 272
(D) 196

104A
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90.

91.

92.

Find the average of square of first six
natural numbers.

TEel! ©: VTl Al % T H A
A A |

(A) 11.17
(C) 17.20

A bag contains 1 rupee coins, 50 p coins
and 25 p coins. The number of coins are
in the ratio of 2.5 : 3 : 4. If the total
amount is Z 420, the number of 50 p coins

1S

e A it 1 7, 50 e e 25 48 % Rl
§ | fomi ) gEA 2.5 : 3 : 4 % FA A
§ | 7R et TR T 420 2, 50 T % Tyl
) g B -

(A) 332 (B) 222

(C) 454 (D) 252

(B) 15.16
(D) 13.70

A cylindrical vessel of radius 4 cm
contains water. A solid sphere of radius
3 ¢m is lowered into the water until it is
completely immersed. The water level in
the vessel will rise by :

U AR T Rrgeh! e 4 9t & ot

A WO ] | T 31 Tien Rraeht s 3 3
B I o 99 q ST T 9 A 6 98
QU g EI AT | I F I TR G

(A) %cm ®) %cm
.‘ © %cm (D) %cm_

If a man spénds T 875 per month and
saves 12%% of his income, then what is

his monthly income ?

aﬁwmwﬁm?mw—q‘m%
a’ttawqﬁam%u%%ﬁmmi,

A IR Hfdeh T TR 9

(A) 1,000 (B) % 1,100
(C) 21,110 (D) T 1,010



94,

95.

96.

A certain sum of money becomes three
times of itself in 20 years at simple
interest. In how many years does it
become double of itself at the same rate
of simple interest ?

(A) 10 years (B) 12 years

(C) 9 years (D) 11.5 years
YR = R 0 v vaafdn 20 9§ 3§
FAH! oA 8 et 2 | et e =T
R AE fohe of & gl g At 2 2

(A) 10.94 (B) 1299

(C) 9 ¢ (D) 11.5 94

At compound interest, if certain sum of
money doubles in n years. The amount
will be four fold in ;

(A) 4n? years (B) %nz years

(C) 2n years D) %n years

Tehdie ST W, e iR ol nad &
AT Bt &t ¥ =R e At

(A) 4n2 ¥ o (B) %nz ELE|

(C) 2nad & (D) %n CLE:

If 45 m of a uniform rod weighs 171 kg,

then what will be the weight of 12 m of
the same rod ?

(A) 45.6kg (B) 50.3 kg
(C) 63.2kg (D) 33.9kg
afe 45 et ht wHgEE B 1 9 171
.8, Arsd w12 Frevos A
feamgme
(A) 4s6fsm.  (B) 503 Rk
©) 632%m. (D) 33.9fm.

1

16 -

97.

98.

99.

I 100.
|
|
|
] _
|
|
|
|
|
|

A trader sold a mobile phone get for
< 13,560 with a discount of 12 Percent
and gained 21.8 percent. If no discount jg
allowed, then what will be his gain
percent 7 '

T SATIRY A 12 Wfersre ¢ 6 91 7 13,560
% HreTgel B & &= 37K 21.8 S wmy
foran | afe # gz 78 & e 2, o vu%
w1 % Sfersra 1 2 2

(A) 26.5% (B) 42.5%

(C) 46.5% (D) 38.4%

If the cost price of 10 articles is equal to

the selling price of 7 articles, then the
gain percent is

A 10 T3t ot e e, 7 gl #
%ma?ma%m%,?ﬁmmt
(A) 33.33% (B) 21.33%

() 51.33% D) 42%%

8+4(3-2)x4+3-7=19
(A) 4 (B) 9
©) 11 D) 3

The difference between the length and
breadth of a rectangle is 23 m. If its
perimeter is 206 m, then its area is

(A) 2840 m? (B) 1250 m?
(C) 2520 m? (D) 2240 m?
T 1T ! TS e e & o 23 e

1 I R | A 361 afemw 206 Hew R,
A e e R

(A) 2840Fifir  (B) 1250 ot e

(C) 2520=i fim (D) 2240 7 i
104A
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| - \ _ consecutive eve.n
f 5 > &n, What 1S

he length of a rectangle is increa Y
sed by 104, The averag D an

' ;01' 0% and its breadth decreased
lhe area of the new rectanglsee; Y. 1% numbers'A; i n FI
A) remains constant. the product Og@arr' a1 A B, ~ 2 -
) is increased by 11% 5 HETTA 99 ﬂgﬂmm%?
C) is decreased by 11% aad 522 | B Al E 0
(D) is decreased by 1% - . B) 279
e ST T TS T 10% ST T2 (C) 2810 (
et <NSTE B 10% TR TN | T T ve the surface
77 GAB 105. If V be the volume 33- Sension's a, b, &
(A) AT TR | area of @ cuboid of .
(B) 11% ¢ STt % | then _1—- 18 equal to
(©) ll%HEGR‘IT%I % %WWWVW
(D) 1% TSR | ,’rﬁ*',a’b”"’” ; ; 2
_ qs@aﬁas%,ﬂag'ﬁ'ﬂa‘a?'a[
102 If the price of banana is decreased b :
20%, 5 bananas more can be purchaseﬁ (A) 2S(a+b +2¢) (B) S(2a+ 2b + 2¢)
for the same amount ¥ 10. What was the 2(1, 1. 1] +2b+3¢
initial price of one banana ? ' (< _s'(; T b + c G )
(A) 65 paise (B) 55 paise
(C) 50 paise . (D) None of these ' : . ] .
F3 & FHHd B 20% T AT 3, (106 A hard disk is divided into tracks, which
R TRIZ 10 3 5 e ot SR w11 are further sub-divided into
R o Bt T ot 2 (A) Heads (B) Vectors
' C) Sectors (D) Cloud
A) 6534 B) 559 ( :
EC; s ED;sﬁﬁaﬁéqﬁ @g@%ﬁﬁiﬂﬁﬁwﬁﬁﬁmm
. 3, R o 39-feier T ST @ -
103, 10 men can finish a piece of work in 10 (A) Sk (B) ol A
days, whereas it takes 12 women to finish C) qFeli | Fose
it in 10 days. If 15 men and 6 women © (D) A
undertake to complete the work, how
many days will they take to complete it ? 107. In a computer keyboard the Ctrl, Shift,
(A) 9 days | (B) 5 days Del & Insert Keys are known as .
(C) 10 days (D) 13 days (A) Special keys
10 76% T T b Eﬁlﬂf&'#ﬁ‘{?fﬁ (B) Function keys
W &, Jfeh 39 10 fr 3 ool &0 & ferg (C) Standard keys
12 Afeat 4t SaEHa g € | afe FE (D) Navigation keys
| ol o T g 15 38 A 6 et BTl T FAL $&rd # Ctrl, Shift, Del 3R
\[ %ﬁﬁ@mﬁﬁﬁﬁaﬁﬁﬂaﬁﬁ? | Insert S} <l ST ST B -
| E}C\; 91:? @2 ﬁ;q | (4) Pt (B) s Eh
| 10 D) 13 . —a "
| B (©) TEHEH (D) HEwE

17 o
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108 Com known : :
puter Monitor is also as 113. What is the maximum length of the b
 Fg@atm s F s A filename in older MS-DOS FAT t?ilsle
. T g | system ?
(A) DVU (B) CCTV WH MS-DOS FAT ®Rel Sureht & ¥
(©) uvD (D) VDU | mmaﬁmﬁwmﬁwﬁ?ﬁéo
109. You organize files by storing them in (A) 4
(A) Folders (B) Archives (B) 5
(C) Indexes (D) Lgts ©) 38
HT FiEAl @l SR 3
R FA E | (D) Noneofthese/‘iﬁﬁﬂ-ﬁi?ﬁf
(A) ieed (B) ¥higsi 1
o ; _ 14. LAN stands for
(©) e (D) i LAN %13 w3
110. MS-Word is an example of (A) Local Area N y
(A) An Input device 4 alairea NERYON
(B) Application software (B) Large Area Network
(C) A processing device ‘ Qﬁ (C) Land Area Network
(D) An Operating Sys%tem (D) Line Access Network
MS-Word T 3180
(A) ﬁémgﬁlm . 115. What is the meaning of Bootmg in the
CUR M operating system ?
g; 3{% ey -+l (A) Restarting computer
ShH _ (B) Install the program
D) AT S® - (C) To scan
111. Which is the Linux Operating System ? (D) To turn off
(A) Private Operating System TETeH 7 g W s e R 0
(B) Windows Operating System ' W‘ :
(C) Open-source Operating System (A) E?WW |
(D) None of these R EILE ) ‘
EERRREE R Cice ke & -8 S (C) T & -
 (A) T yETeH 3 | (D) SeH
B) faver e

(C) I-T w=Te T { 116. Which of the following programs enables
(D) T q Eb:lﬁ T8 1 | Z:::il (t:g l(l:l&:;;uslz‘l?te numbers related to rows
112. Which of the following is not considered | d |
as a hardware ? I (A) Window program

¢A) Operating system (B) Spreadsheet program

(B) CPU ‘ (C) Graphics program

(C) Keyboard . (D) Word program

(D) Hard disk ﬁnﬁﬁﬂﬂ?mmmﬂaﬂtw
mﬁ%%@a@m%mﬁwm o G R N
ST L= o, ¢ A) frsmm (B) S Tom

(€) e (D) T fo=h ‘
o 104A
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Which type of view j
MS-PowerPoint ? €W 15 not Present in
A) Extreme animat

(B) Slide show "

(C) Slide sorter

(D) Normal

MS-PowerPoint ¥ frg
TS T R 2 T ()

(A) T TR (B) e g
(C) MRS HE (D) wmr

Microsoft Office Share
used for
(A) A WYSIWYG HTML editor and

web de51gn program for customizing
SharePoint applications, it replaces
Microsoft Office FrontPage.

(B) Project management software to
keep track of events to create
network charts and Gantt charts.

(C) Diagram and flowcharting software.
(D) None of these - |

TGHAR AR AR R %

I Aar ® -

(A) & WYSIWYG HTML UEH 3R
IRIATEZ TATHIH 1 HEARS P
o A fesme YW, 37 TR
TRE Thelst o1 TH A& |

(B) Tz =é 3 e =1 H 71 & foe
T3 1 3% TE 1 TR Jaud

1R C D |
(C) SR 3T FAETE H HFTH
(D) T8 ¥ SIS &

Which of the following is not true about

RAM ? _

(A) RAM is a temporary storage arca.

(B) RAM is the same as hard disk
storage. r

(C) RAM is volatile. .

(D) Information stored in RAM is gone
when you turn the computer off.

RAM 3 fore e & & o1 9 TE R 2

(A) RAM T STerlt siSrev & 8 |

(B) RAM ¥ fe& ERU F A E R |

7.

(8. Point Designer is

119,

2

e
|
|
|

121.

122.

. . f
120. Which of the following 15 a1 example o

an input device ?
(A) Scanner
(C) Projector

(B) Speaker
(D) Printer

gmﬁaﬂqm@,ﬁ%ﬂf@ma'“"
?

(A) SR (B) T

(C) ST (D) B

In Rajasthan, the post of Governorolt:
successor to the Raj Pramukh. Qn 3
March, 1949, when Greater Rajasthan
State was constituted, who was made the
Raj Pramukh ?

(A) Sawai Jaisingh

(B) Sawai Mansingh

(C) Maharao Bheemsingh

(D) Maharana Bhupalsingh

T ¥ Uege @1 UG {eead B
el & | 30 O, 1949 B, € T
TR T 1 T8 (el T, T8 T e
forg =T T 7

(A) HaTé TafdE

(B), WaTE AHRE

(C) Here
(D) TwErmon
Consider the following statements with

reference to Lokayukta in Rajasthan :
1. Justice ID. Dua was the first

Lokayukta of Rajasthan.
2. Lokayukta shall not indulge in
business. )
3. He should be a member of

Parliament or Legislative Assembly.
Which of the above are correct ?

T ¥ Aehga & ged § fafifea
1. B, 5T TR %
wregE & | 3 b

2. g SHEE N it T & e |

3. 9 HEg |/ 1 TG BT
=T |
IR A AR ATEE ?
(A) 1,2,3 (B) 2,3
©) 1,2 D) 1,3
o



123. Which of the following pair is incorrect ? |126. Read the following facts about the Vijays
(A) Meenakari - Jaipur Stambha (Victory tower) of Chittorgarh .
(B) Ajrakh Print — Sanganer 1. This is popular that it was byl by
(C) Teracotta Art — Molela Maharana Kumbha.
(D) Thiwiet -~ Pratipizath 2. Ithastotal 11 storey.
5.5 ey Wi 3. There is a statue of Jaita carved ip it,
e I gHfera ! Of the above, correct factsare
(A) TR - TR | TRriteme % foem wiv S o i P
B) sw@ e - mmR fed : - -
(©) TR - s 1. 7 3G & 5 @ o g 3
D) ¥MFA - YA ST T | '
: . 2. Eh et 11 Aot § |
124, ‘Which of the following is not correctly 3. FEH AT gfd 3Pl R |
matched ? 7 | Zﬂ'ﬂﬂﬁ ¥ §
Tourism Place District ST
(A) Bhatner Fort — Hanumangarh (é) .;’ g’ 3 (g) i
(B) Menal - = Ajmer’ ' ) )’ B 43
(C) Osian ~ Jodhpur 127. Which of the following are the
(D) Kailadevi temple — Karauli . gzr;tijghuc;us fistriots af Rajastiig. 7
: e ) Jhalawar, Bundi, Tonk
ﬁﬂ%f@aiiﬁ?mﬁﬂ:;ﬁ%? (B) Sirohi, Pali, Jalore
: i Y (C) Chury; Jhunjhunu, Jaipur
(A) Wt e _ : (D) Sirohi,'Banner,*Jaisal_mer
e ¥ e 3 & e 3 e
. TP K. §
(C) Nfrat i SaR (A) W, 4, 3
D) Ferft Ay — weht B) R, ureh, smeik
_ ‘ (©) T¥, T, X
125. In 1903, who imposed ‘Chanwari’ across: (D) R, srei, S -
his jagir holdings, which everyone was ’ H ‘

expected to pay at the marriage of their |128. The constitutional status was given to

daughters ? ' . Panchayats under article :

(A) Rao Krishan Singh : | R IR & & TG!S e
(B) Rao Prithvi Singh Eﬁﬂ g femn ¢ ' _

(C) Kesari Singh : A (A) 227 (B) 243

(D) Bhoop Singh | (C) 241 (D) 221

91903 3 Roa a1y o 8§ a0

: ' 129. The famous saint of Medieval Mewat was :
2 e, ol e 1ot i 3 ferg (A) Charandas ~ (B) Laldas

S ERE aﬁfém?n 7 : (C) Hariramdas - (D) Sundardas
(A) TaFoItE  (B) TaTeAvE .| Tﬁ:ﬂm%ﬁg)mﬁ
{6 Jetime) . o) AL © TmE (D) G

104A




. L A
’ R P
ot Sardars

Bl . According to the cens : i
3 us 2011, which of Ollowmg ;ﬂgatap in the

the following district of Ra; : f
: ; f 133. f the
max1mun_1 tribal populatio;f{ ;ljasthan s ¥ gl}x‘;f: v?/it fa_vour. ‘,:.'!f Rg
(é) g_‘:(alpur (B) Jaipur battle of Haldigh2" 4r (RaM Saha)
mﬂvﬂr( ) lzagera; (D) None of these |, Ram Singh T
- HFER, 1 A A T & 2. BidaJhal2 t
7 & Rt 3 arftrem - | " pandas Chunda™®
Wﬁ'm% ? 3. Rawat Krishan a
(A) 3TI (B) 3 Sing Kachwah?
o i W _ 4. Madho wer fr mthe given
© (D) ¥ & % T Choose the correct 21
131. Who is responsible for planning and codes : B 1.3 3 and 4
implementation of Mahatma Gandni (A) 2and £ (D; { and 3
National Rural Employment Guarantee ©) 1,2 and 3 (
Scheme ? Wﬁ@qﬁw S
(A) State Government > ﬁmnmqa;qmﬁ’@@ g 7
(B) Gram Panchayat : % ;
(C) Gram Sabha 1, e @ (™ arel)
(D) District Rural ~ Development Zre
Authority (DRDA) . 2. W
e Tifeft T Teor JATR E A 3, Ea P LI
¥ e ot fraram % fe ®F 4. wERiEHOIE
FaEeR ? 7’ ﬁa@@%mmaﬁﬁﬁw
(A) TST TN ‘ % Hifore : | ,
(C) T aHl ‘p s n
1,2@3 @ 1@ 3
(D) forem s faehTa ST (DRDA) © 1,2% o
132. Following battles are mile-stones in _ ' i
History of Rajasthan : 134. Name of birth place of Te_]a_]-l is
1. Batt]e othanwa 2 : (A) Khadnal (B) ASlnd
2. Battle of Bhatner . (C) Kolu (D) Dadrewa
3. Battle of Sumel-Girl | T EEHE AR
4, Battle of Haldl-GhE.ltl ¢ datewise I N
Arrange these battles In correc (A) T (B) 3THTe
chronological .order and choose the ©) 3‘2'31\ (D) el
correct answer : N 3 d .
Preffe I8 T sfoer
- (4 135. Phooldol festival is celebrated by
"y g H I8 2 SR F IS (A) Vallabh Sect (B) Ramsnehi Sect
“y3, gAa-fi 1 38 4, T TG %, (C) Satnam Sect (D) Parnami Sect
Fgﬁﬁa@ﬁrﬂﬁ"ﬁr@%g,aﬁm tga-s\?rama AT ST B
mwaﬁ;ﬁf: B L34 | (A) T TG (B) THFEE T G
A) 1,2,5 i A :
S r2es O 1,342 (C) WA TIGR (D) et 92 g
: o
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136.

137,

Which Article of the Indian Constitution
deals with the appointment, tenure,
responsibility, qualification, salaries and
allowances of the ministers of State ?
(A) Article 162  (B) Article 265
(C) Article 164 (D) Atrticle 207
I GfuT &1 1 &1 396 T &

ufrEl f P, wriwm, e,
e, Sa e & wala R ¢

(A) FTDE 162 - (B) HTHE 265
(C) 3T=g 164 (D) TR 207

In Rajasthan, how many Legislative
Assembly Constituencies are reserved

for the candidates belonging “to the

Scheduled Castes and Scheduled Tribes
respectively ?

mﬁ%ﬁﬁmww &

Wﬁﬁ%ﬁﬂmﬂm’é 7
= (A) 34,25 . (B) 25, 34~ ¢
(C) 36,23 ‘ (D) None of these /
T THARETE

138.

139.

(©) 7%, 2008 FI

The subject of ‘Mundiyar Ri Khyat is
(A) Hadas of Bundi

(B) Sisodiya of Mewar

(C) Rathores of Marwar
(D) Chauhan of Sirohi -
‘querar & e’ 1 g & -

(A) Sd ST

(B) Tare % fRrifemn

(C) TRETS % WSS
D) @ e

Rajasthan Information Commission is
established on

(A) June, 2004
(C) May, 2008
TSR =T ST
(A) [, 2004 i

(B) April, 2006
(D) April, 2009
RS 1ee

(B) 313, 2006
(D) 31, 2009
-3¢

24
SR

|

142.

140. Which of the following pair of different

22

141.

s T R S T S |

stages of unification of Rajasthan and

relevant dates is incorrect ?
Stages of
Unification

(A) Second Stage— 25 March 1948

(B) Third Stage — 25 March,. 1949

(C) Fourth Stage — 30 March, 1949

(D) Fifth Stage - — 15 May, 1949

Dates

TSTEH Tehiehot o ferfirm =il we aeaeht
fRmim =i s gm e @ 7
TR ffdr
o |

(A) fefa=m - 250, 1948
(B) g =wr - 259, 1949

(C) Sgd =W~ - 30T, 1949
(D) W= - 157, (949
‘Who among the following of Rajasthan is
‘honoured by ‘Padmashri  award

announced in 2021 ? :

(A) Arjun Singh Shekhawat
(B) Lakha Khan. ;
(C) Shyam Sundar Paliwal
(D) All of these

92021 # oifya uq:raﬂ’wﬁm
& o w7

(A) AR SEmad

(B) @@ @H

(C) VTG Treftae

(D) T ot

‘Who is appointed as Chairman of

Rajasthan Human Rights Commlssmn in
January 2021 ?

(A) G.K. Vyas

(B) Mahesh Goyal

(C) Banwarilal Sharma

(D) None of these |
Sl 2021 § PR ToRYH AR

AR 1 reae g TR T @ 7
(A) ¥ =M@ (B) T M

(C) SR A (D) wﬁﬁ@iqﬁ

3 104A°
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I v .

] ’
' .

= ich of the following edition of Jaipur
ature fes;ival was organised from
28 February, 20217 «* -

e Hieeas 1 F d A B
o & 28 W&, 2021 %t Ao

o Liter
1910
Fag
gehtd 1
et |
3(}\)7‘14- o .B 15
) 12 - (D) 13,
Revolutionaries of which place of
Rajasthan gave slogan ‘Chalo Delhi . !
Maro Firangi’ (Go Delhi ! Kill
Britishers) ? .

(A) Neemuch Cantonment (barracks) .
) Naseerabad Cantonment '
(C) Khairwada Cantonment
(D) Erinpura Cantopment :
et et 1 ATRY ReG 1 BT AT TR
¥ ! % FifaepTie 3 foaT T ?
(@) e (B) TR B
() Ewgl T (D) WA BT

145. Ramnath Chaudhary is ‘associated with
which musical instrument ?
(A) Algoza™ (B) 'Pungi .
(©) Dholak (D) None of these
g <l w1 ey R A A R 7
() Fremier - @)L

Which among the following statements is'
- wrong about great poet Suryamal ? -
. (A) He described the history of Bundi.
(B)* Bravery feelings have emerged from
" his poetry. . i pah
(C) He was the resident of Mewar.

- 146.

TEH iy AT

HYA T @ 7

(A) TR 58 o shergra 1 v fomarm |

(B) TRt wHferan ¥ wETGH 1 WTET 1 35
- B ‘

(C) A Yare famt 4 |

(D) ¥ WIEht 6T TG TETHTeA B |

1047

b

cResvNn| 0 adh AFRSRN T K

"

(D): Vansh Bhaskar was his famous Epic. - |
FaAfmAasEE |

,mous in which field?
B) Folk ,Dance

e TG ?
T AF T
a0 BY T
MO

148. If the Chairma ember of Rajsefhen

. . ssjon interids to
ic Service CommissiZ . ™.
i on helshe will give Risher

resignation le?te.g to
(A) Prime Mipister
(C) Chief Minister

'(B) vaemor
(D) Presic}en;

(D) V%"

149. Name the personality who is also known
as ‘Abhinav Bharatacharya’.-
(A) Maharaja Jaswant Singh -1I
(B) Maharana Kumbha .
(C) Maharana Pratap
(D) Nagabhatta-I I
3q SR F1 T FaE St “31fE
s A AN A AR 4

<

(C) HERTIT Jd
(D) AFTHE-1

150. Arrange the heights of following peaks of
Aravali mountain range in ascending

order: . %

a. Jarga b. Ser

c. Delwara d. Guru Shikhar
STl TeaHTen St Fr SRt w5 S
* ggd H N Sqaed o ;

a. S s, T -

C. mlge, (?{_d_ ‘ﬂFﬁT@(

23

(A) a,b,c,d (B) a,c, b, d
(C) c,a,b,d (D) a,d, b, ¢



https://t.me/Latest_Govt_Notification
https://t.me/Latest_Govt_Notification

